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Public Function dxdy to_s( dim dx as double, dim dy as double ) as double
Dxdy to_s = (sgrt(dx*dx+dy*dy))
End Function

> B EBRRE

Const EPSILON# = 0.00000000000001
Public Function Deg(dbIDms As Double) As Double
Dim dblDegree As Double, dblMin As Double, dblSec As Double
dbIDms = dblDms + EPSILON
dblDegree = Fix(dblDms)
dbIMin = Fix((dblDms - dblDegree) * 100)
dblSec = ((dblDms - dbiDegree) * 100 - dblMin) * 100
Deg = dblDegree + dblMin / 60 + dblSec / 3600
End Function
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Public Function Dms(dblDeg As Double) As Double

Dim dblDegree As Double

Dim dbIMin As Double

Dim dblSec As Double

Dim dblTmp As Double

dblDeg = dbiDeg + EPSILON

dblDegree = Fix(dblDeg)

dblTmp = (dblDeg - dblDegree) * 60

dbIMin = Fix(dblTmp)

dblSec = (dblTmp - dbIMin) * 60

Dms = dblDegree + dblMin/ 100 + dblSec / 10000
End Function
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A = arctan
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Private Function CalaAlpha(ByVal x1 AsDouble, ByVal y1 As
Double,ByVal x2 As Double, ByVal y2 As Double)AsDouble' #4744 4r /<
FH

Dimdx#,dy#,Pl#

Pl=4*Atn(1)

dx=x2-x1

dy=y2-y1l

If dx=0 Then

If dy>0 Then
CalaAlpha=PI/2

Else
CalaAlpha=3*P1/2
EndlIf
Else If dy=0 Then
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If dx>0 Then
CalaAlpha=0
Else
CalaAlpha=PI
End If
Else
CalaAlpha=Atn(dy/dx)
If dx>0 Then
If dy<O ThenCalaAlpha=2*PI1+CalaAlpha
Else
CalaAlpha=PI+CalaAlpha
End If
End If

EndFunction

LA ERBEGRPI (REZER) A2AEBRI3. 14159 X AT E,
ME/API=4*xAtn (1) T EHHY.
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X'=xcos@d—ysind
y'=Xsin@+ycosé

cosgé sing O
X'y 1=[x vy 1]{sin6? cosd O}
0 0 1

=[xcos@—ysind xsind+ycosd 1]
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PublicSubXuzhuan(aAsSingle,bAsSingle,ByValeAsDouble) ¢ j##7
a=Cos(DuHudu(e))*a+Sin(DuHudu(e))*b
b=-Sin(DuHudu(e))*a+Cos(DuHudu(e))*b

EndSub

PublicFunctionDuHudu(ByValxAsDouble)AsDouble' /&1 %yl /%
DimHuAsDouble
Hu=x*P1/180
DuHudu=Hu

EndFunction
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X—2+y—2=1
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(X = Acosi
<
'y =Bsini

A28 RERAN, 52

X = Acos¢, cosi—Bsing,sini
Y = Asin ¢, cosi+ Bcosg,sini
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Fori=0To35
X1=-A*Sin(DuHudu(F0))*Cos(DuHudu(i*10))-B*Cos(DuHudu(F0)) *
sin(DuHudu(i*10))+pointX
Y1=A*Cos(DuHudu(F0))*Cos(DuHudu(i*10))-B * Sin(DuHudu(F0))
*Sin(DuHudu(i*10))+pointY
X2=-A*Sin(DuHudu(F0))*Cos(DuHudu(i*10+10))-B*Cos(DuHudu(F0))
*Sin(DuHudu(i*10+10))+pointX
Y2=A*Cos(DuHudu(F0))*Cos(DuHudu(i*10+10))-B*Sin(DuHudu(FO0))
*Sin(DuHudu(i*10+10))+pointY

Picturel.Line(X1,Y1)-(X2,Y2)
Next
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